)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00001XX
Real02 for No.9594

I=[p(x)=x'-4x+2x"—4,¢=3]
2=[p(x)=x"-3x"+5x-5,c=-2]

-5
No0l = .3:{p(x):2x3+11x2+17x+4,c:;}

2
.4=[p(x)=3x4+10x3—8x2+6x+2,c=5}

A=[b(x)=x+ l,a(x):x4—2x2+m—x]
2=[b(x)=x-3,a(x)=x'+mx*-3x +3x-9]
3=[b(x)=x—m, a(x):xz—x—34,r:—4]
4=[b(x)=2x-3,a(x)=8x"—6x" +4x-5+mx,r=1]
| d=[p(x)=x=5x"—x+5] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+64]
4=[p(x)=x"-16]
S=[p(x)=x"+2x-11x>+4x+4]
G6=[p(x)=x"+4x"—13 x> — 64 x — 48]
T=[p(x)=10x+13x* =13 x +2]

| 8=[p(x)=8x"+30x+17x*=30x—25]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00002XX
Real02 for No.9608

No02 =

No03 =

.]:[p(x):x4—5x3+x+5,c:2]
2=[p(x)=x"-3x-2x"+2,c=-1]

2
No0l = .3=[p(x)=3x2—11x+7,c=§}

5
.4={p(x)=—2x+1+2x4+9x3+10x2,c=ﬂ

.1=[b(x):x—2,a(x)=x4—x3+3x2+m]
2=[b(x)=x+3,a(x)=x"+mx*+3x +2x+6]

No02 = ) .
d=[b(x)=2x+1,a(x)=4x —8x—-2+mx",r=2]
A4=[b(x)=x—m, a(x):xz—x—7,r:—l]
I d=[p(x)=x =~ 9x+9] |
2=[p(x)=x"=26x"+25]
3=[p(x)=x—125]
No03 — 4=[p(x)=x"-16]

S=[px)=x"-2x"-10x*+14x-3]
6=[p(x)=x"-2x"=13x>+38x-24]
T=[p(x)=8x"—34x"+27x+9]

4 3 2
LE=[p(x)=20x" -3 x —182x"+27x+ 18]
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXKXKXKXKXKXKXX




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXKXXKXXKXKXKXMA/1-6500104-00003XX

Real02 for No.9646
d=[p(x)=x"-3x"+2x"+2,c=2]
2=[p(x)=x"+3x"=3x-1,c=-1]

)
NoO1l = .3=[p(x):—12x—6+12x4+20x3+8x2,c=ﬂ

5
.4={p(x)=—28x2+ 14x+8x + 18,c=ﬂ

.Iz[uﬁ):x+La@):f—3xawnx—f—3]
2=[b(x)=x-3,a(x)=mx +x" +4x—-12]
.3:[Mx):x—nudx):x;—x—Lr:4]
4=[b(x)=3x—4,a(x)=—12x+10+9x = 12X + mx’, r=-6]

No02 =

d=[p(x)=x"-2x*=25x+50]
2=[p(x)=x"—25x"+144]
3=[p(x)=x"+125]
4=[p(x)=x"—625]
S=[p(x)=x"+2x-7x - 8x+12]
G=[p(x)=x"+5x-22x-12]
T=[p(x)=6x +x"=20x-12]

4 3 2
L8=[p(x)=10x*+13x* =93 x> — 117 x +27].
):9,9,9:0.0.9.9.9.9.9.:0:0.9.9.9.9.9.9:9:0.0.9.9.9.9.9.9.:0.0.9.9.9.9.9:0.:0.0.9.9.9.9.9.9.:0.0.9.9.9.9.9.0.:0.0.9.9.9.9.9.:9.:0.0.9.9.9.9.9.0.:0.0.0.9.:9.9.9:0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXKXXXM4E/1-6500104-00004XX

Real02 for No.9649
.I:[Mﬁ):x4—x3—5x2—1,c:3]
2=[p(x)=x'"-4x -2x+4,¢c=-1]

No03 =

1
NoOI =| 3= p(x)=—8x+6+8x4—4x3,c=ﬂ

4
.4:[p(x):9x3+24x2+ 16x+5,c:ﬂ

.1=wwj:x—la@):f—4f+mx+3f]
2=[b(x)=x+Lax)=x"+2x +m+3x]

No02 = y s
3=[b(x)=2x-5,a(x)=-8x+21+2x +mx’,r=1]
4=[b(x)=x-m,a(x)=x"-2x-30,r=-6]
I I=[p(x)=x"+5*—x—5] ]
2=[p(x)=x"—41x"+400]
3=[p(x)=x"-8]
NoO3 = 4=[p(x)=x"-256]

S=[px)=x"+11x +35x"+13x-60]
GH=[p(x)=x"-9x"+28x*—34x+12]
T=[p(x)=12x+29x" +Tx - 6]

4 3 2
L.8=[p(x)=20x"—47x"—49x"+27x+9]]
PO0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.04

X [Page = 0002]



)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00005XX
Real02 for No.9669

d=[p(x)=x"+3x"+2x-3,c=1]
2=[p(x)=x"-x"=5x-5,c=-2]

4
No0l = .3:[p(x):3x3+4x2—3x—II,CZ?J

1
.4=[p(x)=—11x3+4x2+6x4—6x—1,c=5}

.]:[b(x):x—l,a(x):mx3+x4+x—1]
2=[b(x)=x+2,a(x)=x"-2x=5x"+m]
.3:[b(x):x—m,a(x):x2+7x+l,r:—S]

4=[b(x)=3x+5,a(x)=6+3x" +5x - 12X +mx, r=-4]
I J=[p(x)=x+x=25x—25] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"—1]
A=[p(x)=x"-1]
S=[px)=x"+3x=15x*=19x +30]
H=[p(x)=x"+x -9x+5x+2]
7=[p(x)=20x+53x>-24x-9]

L8=[p(x)=12x"-29x =35 +37x+ 15].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00006XX
Real02 for No.9717

No02 =

No03 =

d=[p(x)=x"-3x+3x"+2,¢c=2]
2=[p(x)=x"-5x"-2x+4,c=-1]

)
NoOI =|.3 = p(x)=3x2+5x+12x4+8x3—2,c=ﬂ

1
.4:[p(x):4x+10x4—5x3,c:5J

A=[b(x)=x+2, a(x)=x4+5x3+x2+m]
2=[b(x)=x-Lax)=x"-4xX +mx—-3x"+6]
3=[b(x)=x-m,a(x)=x"—4x—4,r=-7]
.4:[b(x):3x+5,a(x):—15x2+3x4—6x— 17+mx3,r:—7]
 I=[p)=xX+x-4x-4] |
2=[p(x)=x"=5x"+4]
3=[p(x)=x"+64]
4=[p(x)=x"-81]
S=[p(x)=x"-8x+7x"+36x—36]
G6=[p(x)=x"+8x +18x*+13x+2]
J=[p(x)=4x +24x"+41 x + 15]

4 3 2
L8=[p(x)=6x"+13x*-23x* =21 x+9].
X [Page = 0003] XXXXXXXXXXXXXXXKXXXXXXKXKXXXKXXKXKXKXXKKKXKXXXKXKKXLXKXXKXKKXKXKXKXXKKKKXKXKKKKXKKXK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00007XX
Real02 for No.9763

d=[p(x)=x"-3x"+5x+1,c=3]
2=[p(x)=x"+5x+4x"+5,c=-2]

4
No0l = .3=[p(x)=9x4—12x3—3x2+4x—1,c=ﬂ

-5
.4=[p(x)=8x+26+2x4+11x3+15x2,c:5}

d=[b(x)=x- l,a(x):mx3+x4+2x2+4x—7]
2=[b(x)=x+3,a(x)=x"+2x —4x"+m]
3=[b(x)=x—-m, a(x):x2+5x—9,r:5]
4=[b(x)=2x+1a(x)=4x"+2x +8x+8+mx’, r=4]
| d=[p(x)=x—2x"—x+2] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"=27]
4=[p(x)=x"-16]
S=[p(x)=x"+12x +51x" + 88 x + 48]
H=[p(x)=x"+7xX+9x - 11x—-6]
J=[p(x)=12x=29x> =31 x+30]

L 8=[p(x)=6x"+11x"=21x"+x+3] ]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00008XX
Real02 for No.9877

No02 =

No03 =

.]:[p(x):x4—5x2—5x—3,c:3]
2=[p(x)=x"+4x +x+2,c=-2]

4
NoOI =| .3 = p(x)=9x4—12x3+12x2—10x—1,c=ﬂ

-3
.4=[p(x)=—8x—16+4x3—12x2+8x4,c:ﬂ

A=[b(x)=x- 1,a(x)=x4+mx—2x2+3]
2=[b(x)=x+2,a(x)=x"+x +m+2x]
3=[b(x)=x—m,a(x)=x"+8x+11,r=4]
.4:[b(x):2x+S,a(x):2x4+5x3+9x+ 12+mx2,r:2]
| d=[p(x)=x—d4x —x+4] ]
2=[p(x)=x"=29x"+100]
3=[p(x)=x"-38]
4=[p(x)=x"-625]
S=[px)=x"+2x 21 x> - 62x-40]
.6:[p(x):x4—5x3+9x2—11x+6]
7=[p(x)=15x"+ 68 x* + 75 x + 18]

4 302
L.8=[p(x)=15x"+37x —x =53 x—-30]]
X [Page = 0004] XXXXXXXXXXKXXXXXXXXXXKXXXKXXKKXXKKXKXKXXKKXKKKXKKXX KKK KKK XKKKKK

No02 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXME/1-6500104-00009XX
Real02 for No.9911

d=[p(x)=x"-x"—4x"+5c=2]
2=[p(x)=x"+4x=5x+3,c=-3]

2
No0l = ,3:[p(x)=9x2+6x+3x4—2x3—13,c:§}

-3
.4={p(x)=—3x—8+8x4+12x3+2x2,c=3}

A =[b(x)=x-2, a(x):x4—5x3+m+4x]
2=[b(x)=x+3,a(x)=mx +x' =3x-9]
J=[b(x)=x—m, a(x):x2+2x—21,r:3]
4=[b(x)=2x-5,a(x)=—4x"+4x " —10xX’ +4+mx, r=4]
 I=[p(x)=x+x*-25x-25] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x+1]
4=[p(x)=x"—625]
S=[px)=x"+x —12x" = 14x+12]
GH=[p(x)=x"-3x"-21x*+43x+60]
T=[p(x)=15x +44 x>+ 41 x + 12]

4 3 2
LE8=[p(x)=20x"+27x —11x"—-27x-9]]
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXXXXXKXKXXXME/1-6500104-00010XX
Real02 for No.10027

No02 =

No03 =

.I:[p(x):x4—2x3—x2—5,c:3]
2=[p(x)=x"+x +2x = 1,c=-2]

2
No0Ol=| 3= p(x)=—6x+5+9x4—6x3,c=§}

-1
.4:{p(x):2x4+x3—6x2—7x—8,c=z}

A=[b(x)=x-2, a(x):x4+mx2—4x3+4]
2=[b(x)=x+3,a(x)=x"+4x +mx+3x°]

No(2 = ) X
3=[b(x)=2x-5a(x)=4x —10x —8x+m,r=-1]
A=[b(x)=x-ma(x)=x"-Tx+11,r=-1]
I I=[p(x)=x"+3x"—4x—-12] |
2=[p(x)=x"-10x"+9]
.3=[p(x)=x3—8]
No03 = 4=[p(x) =x"-81]

S=[p(x)=x"-8x"+20x*—16x+3]
H=[p(x)=x"—14x +65x" =112 x+60]
J=[p(x)=8x+2x"—13x+3]

4 3 2
L8=[p(x)=15x"+44° + 21 ¥* =20 x — 12]]
X [Page = 0005] XXXXXXXXXXKXXXXXKXXXXXXKXKXKXXKXXKXKXKXKKXKXKXKXXKXKXKKXKXKXXKXKKXKXKXKXXKKKKXKXKKKK KKK




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00011XX
Real02 for No.10063

d=[p(x)=x"+3x"=3x"+1,c=1]
2=[p(x)=x"+4x=5x+1,c=-2]

3
NoOl =| .3 = p(x):—13x+5+6x2+4x4—6x3,c:—J

-5
.4={mﬁ)=9x4+18x3+5x2+4,c=§{

.]:[Mﬁ):x+3,dx):x4+2x3+nr+3x]
NoO2 - 2=[b(x)=x-2,a(x)=mx +x" —2x"+8]
3=[b(x)==5+3x,a(x)=—17+9x-29x" + 12x* + mx%, r=-2]
.4:[ux)zx—nuMx):x2+4x—7,w:2]
= [p(x)=x'+3x"-25x-75] |
2=[p(x)=x"—17x"+16]
3=[p(x)=x"+64]
NoO3 — .4:Ep(x)jx4—i6]
S=[plx)=x -5x+9x —-11x+6]
6=[p(x)=x"—4x-25x*+88x-60]
J=[p(x)=16x+48 x> +27x—10]

4 3 2
LE=[p(x)=9x +21x —23x"—13x+6]_
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXXXXKXKXXXM4E/1-6500104-00012XX
Real02 for No.10367

d=[p(x)=x"-2x"=x"=3,¢=3]
2=[px)=x"+x —2x-5c=-2]

-3
No0lI = .3={p(x)=3x3—9x2+6x4—8x—19,0:_}

4
-4:[P(x)=—9x+9—29x3+12x2+15x4,c:—}

.]:[Mx)zx—l,ﬂx):naf+x4—x—1]
No0? — .2=[b(x):x+2,a(x)=x4+mic—2x23—14]2
J=[bx)=2x+1La(x)=6x+8+10x +11lx +mx",r=5]
.4:[Mx):x—nudx):x2+7x—Lr:—ﬂ
J=[p(x)=x—x*—25x+25] |
2=[p(x)=x"=29x"+100]
3=[p(x)=x"+125]

No03 = '4:[1’4(’“):’3“4_1]
S=[p(x)=x -3x +x —x—-06]
GH=[p(x)=x"+5x —15x>—45x + 54]
T=[p(x)=15x" +x"—11x+3]

4 3 2
L8=[p(x)=20x"-7x =116 x =119 x—-30]]
00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.04
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00013XX
Real02 for No.10372

d=[px)=x"-2x"+x"+3,c=1]
2=[p(x)=x'+2x-4x"+3,c=-3]

3
No0I = .3=[p(x)=4x4+6x3—8x2—12x—4,c=ﬂ

1
.4={p(x):12x2—4x+12x4—4x3—4,c=§}

.1:[b(x):x—3,a(x):x4—x3+mx—5x2—9]
2=[b(x)=x+Lax)=mx +x'=5x—5]

No02 = ; )
d=[b(x)=2x-3,a(x)=4x" +2x —8x+m,r=-1]
4=[b(x)=x-m,a(x)=x"—6x—1,r=-6]
C I=[p(x)=x"+2x-25x-50] |
2=[p(x)=x"—20x"+64]
3=[p(x)=x"+64]
NoO3 4=[p(x)=x"-16]

S=[p(x)=x"-23x"—18x+40]
6=[p(x)=x"+x —15x>+7x+6]
J=[p(x)=6x—23x"+9x+ 18]

4 3 2
LE8=[p(x)=8x —18x" —19x" +36 x+20]
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXM4E/1-6500104-00014XX
Real02 for No.10375

.]:[p(x):x4+x2—3x—5,c:1]
2=[p(x)=x"+3x+x+3,c=-3]

4
NoOI =|.3= p(x)=6x4—8x3+12x2—1ox—1,c=ﬂ

-3
.4=[p(x)=6x2+7x,c:;}

.]:[b(x)zx—3,a(x)=x4+mx2—4x3+5x+ 12]
2=[b(x)=x+Lax)=mx +x —x"—5]

No02 = )
J=[bx)=x-m,a(x)=x"+2x-34,r=1]
.4:[b(x):3x+l,a(x):3x+6x3+2x2+m,r:—4]
I d=[p(x)=x+4x —x—4] |
2=[p(x)=x"=10x"+9]
3=[p(x)=x—125]
No03 — 4=[p(x)=x"-625]

.5:[p(x):x4—7x3—x2+67x—60]
G6=[p(x)=x"-5x+8x" -7 x+3]
T=[p(x)=9x +21 x> +4x—4]

4 3 2
L.8=[p(x)=10x"-9x" =38 x"+ 36 x — 8]
X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKXKXXKKXKXKKXKKXX KKK KKK XKKXKK




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXKXMA/1-6500104-00015XX

Real02 for No.10426

d=[p(x)=x"-3x"—x+1,c=2]
2=[p(x)=x"-2x-x+1,c=-1]

-5
No0l = .3=[p(x)=6x+16+2x3+5x2,c=ﬂ

5
.4=[p(x)=4x2+3x3—3x—23,c=§}

.]=[b(x):x+3,a(x):mx3+x4+5x2— 18]
2=[b(x)=x-La(x)=x'+x"+m+4x]
.3:[b(x):Zx—3,a(x):—10x2+4x3+7+mx,r=7]
4=[b(x)=x-m,a(x)=x"—10x+ 18, r=-6]

J=[p(x)=x - —4x+4] |
2=[p(x)=x"—29x"+100]
3=[p(x)=x"+125]
4=[p(x)=x"—625]
S=[p(x)=x"+10x +17x" = 52x-60]
b=[p(x)=x"-x —2x"+6x—-4]
J=[p(x)=12x+5x" =34 x+38]

L 8=[p(x)=16x"—109x*+99 x — 18] ]

):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00016XX
Real02 for No.10628

No02 =

No03 =

d=[p(x)=x"-x"—2x+1,c=2]
.2=[p(x):x4—5x3+5x—4,c:-l]

-5
NoOI =| 3= p(x)=—12x—9+16x2+8x3,c=ﬂ

4
.4:[p(x):—28x2+ 10x+12x + 1o,c:ﬂ

.]:[b(x)zx—3,a(x):mx3+x4—3x—18]
2=[b(x)=x+La(x)=x"+mx*+x—4]
3=[b(x)=x—m,a(x)=x"+10x+23,r=2]
4=[b(x)=2x— l,a(x):—7—9x3+2x2+ 10x4+mx,r:—3]

I =[p(x)=x"+4x—25x—100]
2=[p(x)=x"=26x"+25]
3=[p(x)=x"+125]
4=[p(x)=x"-625]
S=[p(x)=x"+x —28x"+20x + 48]
6=[p(x)=x"-6x"+13x"—14x+6]
T=[p(x)=9x =21 x> =26 x +24]

4 302
L .8=[p(x)=4x +8x" —x"—8x—-3] |
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKXKXXKKXXKKXKKXX KKK KKK XKKXKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXME/1-6500104-00017XX
Real02 for No.11408

d=[p(x)=x"-x"—x"—4,¢=2]
2=[p(x)=x'+4x+3x°+5,c=-3]

2
No0l = .3=[p(x)=11x—11—9x2+9x3,c=ﬂ

-1
.4={p(x)=—4x+2x4+3x3+x2,c=z}

A=[b(x)=x+2, a(x):x4+3x3+3x2+m]
2=[b(x)=x-3,a(x)=mx +x —x" — 18]
3=[b(x)=x—-m, a(x):x2+4x+2,r:7]
4=[b(x)=3x—-4,a(x)=—6x"+15x" =20 + 18 + mx, r=6]
| d=[p(x)=x+4x"—x—4] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"—125]
4=[p(x)=x"-81]
S=[p(x)=x"-3x"=13x>+27 x + 36]
Gb=[p(x)=x'-x"—4x-4]
T=[p(x)=15x +62 x>+ 47 x - 12]

| 8=[p(x)=12x"—67x>+117x* =77 x + 15]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00018XX
Real02 for No.11560

No02 =

No03 =

d=[p(x)=x"-3x"+3x+2,¢=2]
2=[p(x)=x"+4x -2x+4,¢c=-1]

-3
No0OI =| .3 = p(x):—6x2—9x+6x4+9x3+S,C:E}

1
.4:{p(x):—6x—4+12x4—4x3,c:§}

d=[b(x)=x+ l,a(x):x4—4x3—5x2+m]
2=[b(x)=x-2,a(x)=mx +x —x" —x—10]
3=[b(x)=x—m,a(x)=x"—2x—11,r=-3]
A4=[b(x)=-5+3x,a(x)=—-8+ 19x—5x3+3x4+mx2,r:7]
I d=[p(x)=x+3x"—x—3] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x—125]
4=[p(x)=x"-81]
S=[p(x)=x"+9x" +12x> —44 x — 48]
6=[p(x)=x"-5x+10x"—10x+4]
T=[p(x)=6x+17x*+ 11 x+2]

4 3 2
L.8=[p(x)=8x +2x —55x"—63x— 18]
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKKXKXKXXKKXXKKXKKXX KKK KKK XKKKKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXKXME/1-6500104-00019XX
Real02 for No.11806

d=[p(x)=x"-4x+4x-1,c=1]
.2=[p(x)=x4+x2+x+ I,c=-2]

3
No0Ol = .3:[p(x):2x4—x3—3x2+4x—5,c:5J

-4
-4=[p(x)= 12x'+16x° - 12x2—28x—22,c:ﬂ

A =[b(x)=x+2, a(x):x4+5x3+m—2x]
2=[b(x)=x-Lax)=x'+mx+3x —6]
J=[b(x)=x—m, a(x):x2—3x— 13, r=5]
4=[b(x)=3x+4,a(x)=9x+13+9x + 12X +mx, r=1]
= [px)=x'—4x —dx+16] |
2=[p(x)=x"—29x"+100]
3=[p(x)=x"—64]
4=[p(x)=x"—-256]
S=[p(x)=x"-12x"+8x+3]
G6=[p(x)=x"—4x=17x*+24x +36]
J=[p(x)=12x+19x* - 12x - 4]

L8=[p(x)=12x"+19x —=49x* +9x +9]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00020XX
Real02 for No.12219

No02 =

No03 =

d=[p(x)=x"-5x"+4x"+4,¢=3]
2=[px)=x"-x"—2x+4,c=-2]

5
NoOI =|.3= p(x)=6x—13+10x4—21x3—10x2,c=ﬂ

-5
.4={p(x)= 15x +25x° - 1,c:ﬂ

.]:[b(x):x+2,a(x):x4+mx2+4x3—4x+8]
2=[b(x)=x—-1a(x)=x"-2x"+m+3x]
3=[b(x)=3x+1a(x)=-10-4x =3+ 15x" + mx, r=-6]

A4=[b(x)=x—m, a(x):x2—3x— 11, r=17]
J=[p(x)=x"+4x"—x—4] |
2=[p(x)=x"=5x"+4]
3=[p(x)=x"—8]
4=[p(x)=x"-16]
S=[px)=x"-7x +18x* =22 x+12]
6=[p(x)=x"—6x=3x"+56x—48]
T=[p(x)=9x+36x"+41 x+10]

4 3 2
L8=[p(x)=8x"+10x"=75x" =90 x +27]]
X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKKXKKXKXKKXKKXKKKXKXKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00021XX
Real02 for No.12809

d=[p(x)=x'-2x-3x*=3,¢=1]
2=[p(x)=x"-x*+4x-5c=-2]

5
No0l = .3:{p(x):—19x2+8x+6x3+4,c:5}

-5
.4=[p(x)=9x4+15x3—6x2—10x—2,c=;}

.]:[b(x):x+3,a(x):x4+3x3+m—5x]
2=[b(x)=x-La(x)=x'+mx*=3x +5]
3=[b(x)=x—m, a(x):xz—x— 18, r=-6]
4=[b(x)=2x-1l,a(x)=2x"=xX +4x" =2 +mx,r=2]
C I=[p(x)=x-3x—16x+48] |
2=[p(x)=x"—29x"+100]
3=[p(x)=x"—1]
4=[p(x)=x"—-256]
S=[p(x)=x"—6x"+3x+2]
H=[p(x)=x"+10x +27x+2x-40]
T=[p(x)=9x +36x"+23x—12]

| 8=[p(x)=6x"+11x=20x"—44x—16]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00022XX
Real02 for No.12954

No02 =

No03 =

d=[p(x)=x"-4x"+x"+3,¢=3]
2=[p(x)=x"+x"+4x-2,c=-2]

1
NoOI =| 3= p(x)=—6x+8+2x4—x3+4x2,czz}

-1
.4:[p(x):—3x+5+9x4+9x3+2x2,c:§}

d=[b(x)=x- l,a(x):x4+mx2—2x3—3x+4]
2=[b(x)=x+3,a(x)=x"+4x +m-5x]
3=[b(x)=3x+5,a(x)=12x"=3x"=5x=5+mx’, r=-5]
A4=[b(x)=x—m, a(x):x2+3x—l9,r:—1]
| d=[p(x)=x—4x*—x+4] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"+64]
4=[p(x)=x"-81]
S=[px)=x"+8x+19x*+ 16 x +4]
H=[p(x)=x"-9x" +21x* +x-30]
T=[p(x)=8x"+14x*+x—5]

4 3 2
L 8=[p(x)=10x" - 17 -12*+ 13x-2]]
X [Page = 0011] XXXXXXXXXXKXXXXXXXXXXXXKXKXXKXXKXKXKXXKXKKXKXXXKXKKXLXXXKXKXKXKXKXXXKKKKXXKKKKKKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00023XX
Real02 for No.12964

d=[p(x)=x"-5x"-2x+3,c=1]
2=[p(x)=x'-5x"+4x-4,c=-3]

-1
No0l = .3=[p(x)=—6x—2+8x3+4x2,c=ﬂ

2
.4=[p(x)=3x+5+12x3—8x2,c=§}

.]:[b(x):x+l,a(x):x4+3x3+mx—2x2+4]
.2:[b(x):x—3,a(x):x4+mx2—2x3—x—24]

No02 = 4 ;
d=[b(x)=2x-5,a(x)=2x -2x+3+mx,r=-2]
A4=[b(x)=x—-m, a(x):x2+x— 11, r=1]
| J=[p(x)=x+x=25x—25] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+27]
NoO3 4=[p(x)=x"—-256]

S=[p(x)=x"—x—28x" =20 x + 48]
6=[p(x)=x"-5x"-8x—-12]
J=[p(x)=15x —44x> +41 x - 12]

L 8=[p(x)=10x"+43x"+51x* +13x—5]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00024XX
Real02 for No.12971

d=[p(x)=x"-3x"+x+1,c=2]
2=[px)=x"+3x-3x"+1,¢c=-1]

3
No0l = .3=[p(x)=2x2—6x—2+4x3,c=ﬂ

-1
.4:{p(x):3x+3+9x4+3x3,c:;}

d=[b(x)=x+ l,a(x):x4+5x3+mx—4x2+8]
2=[b(x)=x-3,a(x)=mx +x +5x+12]
3=[b(x)=3x+lLa(x)=—12x—-x =2x"+ 15x" +m, r=-5]
4=[b(x)=x—m, a(x):x2—4x—8,r:4]
d=[p(x)=x =~ 9x+9] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+38]
4=[p(x)=x"-256]
.5:[p(x)=x4—x3—2x2—2x+4]
G6=[p(x)=x"+12x +49x" + 78 x +40]
T=[p(x)=8x+22x*+ 13 x+2]

4 3 2
| 8=[p(x)=15x"-83x*+ 141 ¥’ = 85x + 12].
X [Page = 0012] XXXXXXXXXXKXXXXXXXKXXXKXKXXXKXXKXKXKXXKXKKXKXXKXKXKKXLXXXKKKXKXKXXXKKKKXKXKKKK KKK

No02 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00025XX
Real02 for No.13023

d=[p(x)=x"-3x"-5x-3,c=3]
2=[p(x)=x"+4x’+2x"=3,c=-1]

1
No0I = .3={p(x):—4x+4—6x2+3x4—x3,c:g}

-5
.4={p(x)=6x3+21x2+15x+5,c=;}

A=[b(x)=x-2, a(x):mx3+x4—3x— 18]
2=[b(x)=x+3,a(x)=x'+mx’+4x —x+24]

No02 = 5
d=[blx)=x-m,a(x)=x"-10x+26,r=2]
4=[b(x)=2x-1la(x)=-11x+6x =1 +mx,r=-4]
= [p(x)=x-3x"-25x+75] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x+1]
NoO3 — A=[p(x)=x"-1]

S=[p(x)=x"—12x +47x" =72 x +36]
H=[p(x)=x"+3x—2x"=2x+12]
J=[p(x)=12x—41 x> +40x - 12]

L8=[p(x)=10x"-21x=31x*+9x+9]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00026XX
Real02 for No.13033

d=[p(x)=x"-5x"+4x"=2,¢=3]
2=[p(x)=x"+2x=5x+2,c=-2]

-5
NoOI =|.3= p(x)=—3x—3+9x4+21x3+1ox2,c=ﬂ

5
.4:{p(x):—4x+7+4x3—10x2,c:5}

.]:[b(x):x—l,a(x):mx3+x4—4x2—4x+7]
2=[b(x)=x+2,a(x)=x"+mx-3x"—10]

No02 = 3 5
J=[b(x)=3x-2,a(x)=18x—-4+3x +mx", r=4]
.4:[b(x):x—m,a(x):x2+6x— 1,r=-6]
I d=[p(x)=x-3x—x+3] |
2=[p(x)=x"=10x"+9]
3=[p(x)=x-27]
No03 — 4=[p(x)=x"-625]

S=[px)=x"+4x —7x" - 22x+24]
6=[p(x)=x"-3x —x+3]
7=[p(x)=20x" =29 x" = 11 x+20]

4 3 2
LE=[p(x)=15x"+37x —26x" — 68 x +24]]
X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXKXXXXKXKXXXKXKXKXX




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00027XX
Real02 for No.13061

d=[p(x)=x"+3x"+x-5c=1]
2=[p(x)=x"+3x+5x+3,c=-3]

1
NoOI = ,3:[p(x):—6x+ 1+4x"+ 10x4—5x3,c:ﬂ

-5
.4={p(x):12x4+32x3+20x2+6,c=;}

.]:[b(x):x—2,a(x):x4+mx+2x2—16]
2=[b(x)=x+3,ax)=x"+mx*+3x +4x+12]

No02 = 4 3
J=[b(x)=2x+3,a(x)=2x+6+10x +mx",r=3]
4=[b(x)=x-m,a(x)=x"—5x,r=-6]
I d=[p(x)=x—x—dx+4] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+64]
NoO3 — 4=[p(x)=x"—625]

S=[px)=x"+3x=23x*=75x-50]
G6=[p(x)=x'-x*+4x-4]
7=[p(x)=20x"+69 x>+ 28 x + 3]

L8=[p(x)=10x"+9x’ =64 x> + 3 x + 18]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00028XX
Real02 for No.13063

d=[p(x)=x"-3x"-2x-2,¢=3]
2=[p(x)=x'+3x+2x"—-4,c=-1]

-5
NoOI =|.3=|p(x)=-3x"—14x+ 12x4+2ox3—8,c=ﬂ

1
.4=[p(x)=6x—4—5x3+2x2+2x4,c:ﬂ

.]:[b(x):x—l,a(x):mx3+x4—4x2+4x—l]
2=[b(x)=x+2,a(x)=x"+4x +3x" +m]
3=[b(x)=x-—m,a(x)=x"+4x-3,r=2]

.4:[b(x):2x+l,a(x):1+6x4+7x3+2x2+mx,r:4]
= [p(x)=x"-5x"-16x+80] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x"-1]
4=[p(x)=x"-1]
.5:[p(x):x4—3x3+x2—x—6]
G6=[p(x)=x"-3x -T7x"+27x- 18]
T=[p(x)=8x-22x"—x+15]

4 3 2
L8=[p(x)=6x"-29x> +45x* =24 x + 4]
X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXKXKXKXXXXKXKXKXXKXKKXKXXXKXKXKXKXKXXKXKKXKXKXKXXKKKKXKXKKKK KKK

No(2 =

No03 =




);0:9:9.:0:9:9.:0:9:9:0:9.:9:0:9:9.0:9.:9.0:9.:9.0:0.:9.0:0.9.0:9.9.0:9:9.0:9:0.0:0:9.0:0:9.0:0.:9.0:0:9.0:9:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0.0-¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXKXMA/1-6500104-00029XX

Real02 for No.13064
d=[p(x)=x"-2x"+3x+5,c=1]

2=[p(x)=x'"-2x"+4x+4,c=-2]

2
No0l = .3:{p(x):—9x+l+12x3—8x2,c:§}

-3
.4={p(x)=—8x—6+8x4+18x3+9x2,c=3}

.]:[b(x):x—l,a(x):mx3+x4—3x2+6]
NoO2 - .2=[b(x)=x+2,a(x)=)§4—3x2+m—x]
d=[bx)=x-m,a(x)=x"-6x+12,r=7]
4=[b(x)=2x+5,a(x)=6x +17x>+18+mx, r=-2]
| d=[p(x)=x—d4x —x+4] |
2=[p(x)=x"—34x"+225]
3=[p(x)=x"—64]
NoO3 - .4:Ep(x)jx4—i6]
S=[plx)=x"+4x +3x +4x+12]
G6=[p(x)=x"+4x —Tx* =22 x+24]
J=[p(x)=15x-22x*-15x-2]
| 8=[p(x)=6x"—41x +98 x> =99 x + 36

):0:0:9.0:0:9.:0.0:9.0:0:9.:9.0:9.9.0:9.:0.0:9.0.0:9.0.0:9.0.0:9.9.0:9.9.0:9.9.0:9:0.0:9:0.0:0.:0.0:9.:9.0:9:0.0:9:0.0:0:9.0:0:0.0:0:0.0:9:0.0:9:0.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXM4L/1-6500104-00030XX

Real02 for No.13065

d=[p(x)=x"-3x"-2x+3,c=3]
2=[p(x)=x"+2x"+2x-5,c=-2]

-1
No0l = .3:{p(x):9x2—3x—5+3x4+x3,c:§}

1
.4:{p(x):2x3—x2—5,c:5}

.]=[b(x):x—1,a(x)=x4+mx2—4x+1]
_ _ 3,4 42
No02 — .2—[b(x)—x+3,a(x)—n12x +x —4x +9]
I=[b(x)=x—-m,a(x)=x"+T7x+11,r=-1]
4=[b(x)=2x+3,a(x)=8x+10x =3 +8x" +m, r=-3]

d=[p(x)=x+4x —4x-16]
2=[p(x)=x"=26x"+25]
3=[p(x)=x"+38]
NoO3 .4=£p(x)jx4—i6]
S=[p(x)=x"+5x"+9x" +11x+6]
6=[p(x)=x"—x —28x"—20x +48]
J=[p(x)=8x+30x"+13x-30]

4 3 2
L 8=[p(x)=15x"+14x°-93x* + 4 x + 12]]
)19:0:9.9:9.9.9.9:0:90.9.9.9.9.9:9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.9:0:0.0.0.9.9.9:0:0:0.0.0.9.9.9.9:0:0.0.0.9.9.9:0:0:0.0.0.0:¢
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00031XX
Real02 for No.13197

d=[p(x)=x"-5x+5x"=2,c=1]
2=[p(x)=x'+2x-4x"-4,¢c=-3]

5
No0l = ,3:[p(x):—l2x+ 10+4x3—6x2,c:ﬂ

-1
.4={p(x)=3x2+13x+5,c=;}

A =[b(x)=x-2, a(x):x4+mx2—4x—4]
2=[b(x)=x+Lax)=x'-5x+mx—4x"-2]
3=[b(x)=x—m,a(x)=x"—13x+43,r=1]
4=[b(x)=2x-5,a(x)=—13x+14-3x+mx, r=-6]
= [p(x)=x-3x"-25x+75] |
2=[p(x)=x"—-26x"+25]
3=[p(x)=x"+64]
4=[p(x)=x"—625]
S=[px)=x"-2x" =21 x*+62x-40]
G6=[p(x)=x"+3x —8x"—26x—12]
7=[p(x)=20x =21 x> =11 x+12]

L 8=[p(x)=12x"—11x" =31x*+4x+12]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00032XX
Real02 for No.13907

No02 =

No03 =

d=[p(x)=x"-x"—2x+3,¢c=2]
2=[p(x)=x'-3x+2x"+4,¢c=-1]

1
No0l = 3= p(x)=8x2—4x—5,c=5}

-5
.4:{p(x):7x+3x4+5x3+6x2,c=;}

.]:[b(x)zx—3,a(x)=x4+mx2—2x3—2x—21]
2=[b(x)=x+2,a(x)=x"-2x"+m+3x]
3=[b(x)=x—m,a(x)=x"+10x+28,r=7]
.4:[b(x):3x—2,a(x):9x4+6x3—8x2+9+mx,r:1]
= [p(x)=x-5x—4x+20] |
2=[p(x)=x"=17x"+16]
3=[p(x)=x"+27]
4=[p(x)=x"-1]
S=[px)=x"+x —19x"+ 11 x+30]
G6=[p(x)=x"+8x+19x*+16x +4]
T=[p(x)=15x+8x* =17 x - 6]

4 3 2
L8=[p(x)=12x" +47x +3x" —98 x—24]]
X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXKX KKK KX KX KXKKXKXKK

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME/1-6500104-00033XX
Real02 for No.13975

d=[p(x)=x"-2x"=3x"+4,¢c=3]
2=[p(x)=x"+2x"=5x-5,c=-1]

2
No0l = .3=[p(x):11x+2—12x2+15x4—10x3,c=ﬂ

-3
.4={p(x)=—6x—16+11x3—6x2+1ox4,c=ﬂ

.]:[Mﬁ):x+2,dx):x4—x3+m4ﬁﬂ
2=[b(x)=x-3,a(x)=mx +x =2x"=9]
.3:[Mj):—5+3xgdx):—25x3+15x4+9x2+3+nunr:3]
4=[b(x)=x—m,a(x)=x"—12x+30, r=-5]
= [px)=xX -4 —4x+16] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"+38]
4=[p(x)=x"—-256]
S=[p(x)=x"-x—11x"+9x+ 18]
G6=[p(x)=x"+5x+3x-Tx-2]
J=[p(x)=4x—4x*—19x+10]

| 8=[p(x)=8x"+26x+11x* =27 x—18]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00034XX
Real02 for No.13984

No02 =

No03 =

d=[p(x)=x"-3x"+4x+5,¢c=3]
2=[p(x)=x'+4x"-2x-4,c=-1]

-1
No0l = .3=[mﬁ)=6x2+5x+6¢ﬁf5J

5
.4=|:p(x):4x+3x2—25x3+15x4—19,025}

.]=[Mﬁ):x+l,ﬂx)=x4+5x3+nr+3x]
2=[b(x)=x-2,a(x)=mx’ +x' -2x" - 16]
3=[b(x)=3x+4,a(x)=3x"+4xX+ 2x+ 12+ mx’, r=-4]
A=[b(x)=x—m,a(x)=x"—-5x+10,r=4]
I I=[p(x)=x-5x"—4x+20] |
2=[p(x)=x"=29x"+100]
3=[p(x)=x"+27]
4=[p(x)=x"-16]
S=p(x)=x" - = 9x" = 5x+2]
6=[p(x)=x"+12x"+49x" + 78 x + 40]
7=[p(x)=20x"+x"=25x - 6]

4 3 2
LE=[p(x)=15x" +74x +83x " —16x—-12]]
X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXXKXKXKXKXKXKXKKXX

No02 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMLE/1-6500104-00035XX
Real02 for No.13991

d=[p(x)=x"-5x"+4x+2,¢c=2]
2=[p(x)=x"+3x—x"=2,c=-3]

1
No0l = .3:{p(x):—3x+5+3x4+5x3—2x2,c:§}

-3
.4=[p(x)=6x4+17x3+12x2+5,c=5}

A=[b(x)=x+3, a(x):mx3+x4—x2+9]
2=[b(x)=x-2,a(x)=x"+3x +mx—5x"=20]
3=[b(x)=3x+5,a(x)=—19x+15x"+25x =9+ mx%, r=6]
A4=[b(x)=x—-m, a(x):x2—2x—26,r:-2]
= [p(x)=x’+x*-25x-25] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+64]
A=[p(x)=x"-1]
S=[px)=x"-3x"=15x>+19x +30]
6=[p(x)=x"-3x"-11x*+19x-6]
T=[p(x)=9x +18x*=37x—-30]

L 8=[p(x)=10x"—x —43x* +4x+12].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME/1-6500104-00036XX
Real02 for No.14005

No02 =

No03 =

d=[p(x)=x"-2x"+2x-4,c=2]
.2:[p(x):x4+5x2+x—2,c:-l]

-5
No0l = .3=[p(x)=2x2+x—5,c=z}

2
.4=[p(x)=12x4—2x3—4x2+6,c=ﬂ

A=[b(x)=x+3, a(x)=x4+mx2+4x3]
2=[b(x)=x—-1l,a(x)=mx +x +4x—3]
3=[b(x)=x—m,a(x)=x"+x—-13,r=-7]

.4:[b(x):3x+2,a(x):9x2+7+6x4+4x3+mx,r:5]
[ I=[p(x)=x-5r—16x+80] |
2=[p(x)=x"-34x"+225]
3=[p(x)=x"-27]
4=[p(x)=x"-81]
S=[p(x)=x'-2x-31x"+92x-60]
6=[p(x)=x'-18x"+25x+6]
7=[p(x)=6x +23x"+11x—12]

4 3 2
L8=[p(x)=9x —9x —85x" +81 x+36]]
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKXKXXKKXXKKXKKXXKKXKKKXKKXKK
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMLE/1-6500104-00037XX
Real02 for No.10120

d=[p(x)=x"+x +5x+1,c=1]
2=[p(x)=x"+4x —x+3,c=-2]

4
No0l = .3=[p(x)=—25x+ 17+12x" - 16x" + 12x2,c=ﬂ

-3
.4={p(x)=4x+2+6x3+9x2,c=5}

d=[b(x)=x—- l,a(x):x4+x3+mx—5]
2=[b(x)=x+3,a(x)=x"+mx*+2x = 9]

No02 = , s
J=[b(x)=3x-5a(x)=-20x"—-4+mx",r=-4]
A=[b(x)=x-m,a(x)=x"—10x+21,r=-3]
= [p(x)=x"-5x"-4x+20] |
2=[p(x)=x"—34 x> +225]
3=[p(x)=x"+27]
No03 = 4=[p(x)=x" - 625]

S=[p(x)=x"=5x"-5x"+45x-36]
6=[p(x)=x"-8x"+19x*—16x+4]
T=[p(x)=4x+20x"+27x+9]

4 3 2
LE=[p(x)=4x" —4x -27x" +28x+20]_
D 010:0100:0:0:0:0:0:0:0:0:0:0:0:00:0:00:0:0:0:0.000: 0000000 00:00. 00000000000 0:0.0:0:0:0:0:0:0.0:0.0:0:0:0:0:0:0.0:0:0:0:0:0:0:0¢
>




